350 Watts x 2 Channels Micro Amplifier with wire harness

+2/4 Channel for up to four speaker hookup (175 Watts x 4)

“Includes Two handle-bar Mount Aluminum Die-cast Weatherproof 2.25'" Speakers
~Two additional amplified channels for a total of 4 speaker hook-up

+3"' Dual Aluminum die cast bullet Speaker with Supreme high temperature Voice Coil
+Pair of Chrome Handlebar Clamps

+Chrome Universal Handlebar Mount Rotary Volume Control

+Chrome Stainless Universal handlebar audio mount

+12 Volt T-TAP Plug for direct connection on American made Motorcycles

*USB charger & Satellite 5V plug

+Easy Chrome Stainless Mounting Brackets and Accessories included

+Environment resistance and water proof Bluetooth and in-line volume control console with
3.5mm Stereo Input Jack, Easy Connection to the Output of Other Audio Devices Like i-Phone,
i-Pad , i-Pod , Cell Phone and MP3 etc

*Bluetooth 3.0 technology

“Bluetooth auto connected while power on

“Bluetooth auto disconnected while Aux-in (3.5mm connector)

“Bluetooth console Dimension : 2.36" L x 1.65" (W) x 0.87"'(H)

+Easy and quick installed handle-bar mount bracket is included

+Speaker Dimensions : 4.8''L x 3.35''W x 3.35''H

+Amplifier Dimensions : 5.71''L x 3.05''W x 1.19"'H

+Sold as : Kit

BLUETOOTH CONTROLLER

B luetooth’
Indicm‘or\

Power Indicator

Previous Song
Press and Hold
Volume Down

T Next Song
Press and Hold
Volume Up

Play/Pause
Press Hold = On/Off

Congratulations on your purchase of this Lanzar- oPTiFIVE Series premier amplified speaker system. Like all ~Lanzarproducts, this motorcycle

system has been thoroughly tested o ensure consistent, reliable performance under some rigorous conditions. Our systems were designed o with

stand water, moisture, heat, and direct,sun exposure. We pride ourselves in customer safisfaction. If you should have any questions regarding the

installation and/or operation of your ~Lanzar oPTIEIIV= Series motorcycle speaker system, which is not covered in this manual, please contact your
onzar- Dealer or oLansarTechnical Support.

What is Included?

Upon un-packing your new ~Liunzar-op iz Series audio system, please check to ensure you have all the included parts.

Part # Part #
with Image OPTIMCS1BT with Image

" (2)Pai o 300 Wat Stereo Chrome Speaker #o )12 Vol Direct g, for Compatible
Enclosures with Specker Wires - v
(@)Pai of Handiebr Spesker Enclosre 7
w2 BN O #10

2 8§ | P of Handebar Music Saurce Mou'Z" .
# 88 G com L (e

OPTIMC91BT

(1) USB Charger/ Power Source.

(1) Bluetooth Control Box

iicro Stereo4CH Amplifier(350 Watts x 2

#4 ¢ #12 o
Max Output Power)

(Oniversal chrome Handiebar Mg3/Audio

- Moun with #13 Sm— | (6 Slock Wire Tie Lockable Streps

(2) Black Industrial Velcro

(1) Black Industricl Velcro Adhesive Strips

(1) Amplifier 12 Volt () Ground Blue Spade
#6 + Terminal #1447

(8) Screws for Speaker

(1) Amplifier 12 Volf (+) Blue Male Terminal
L
#7 Connector. #15 * *

#8 Q

(2) Screw, Washer and Nut for Amplifier

(1) Universal 12 Volt Wire Harness Connection

o[émzar@

OPTID =NV (=

ol cESticE IR SO nINAVRII204 - 718 535 - 1800 « FAX: 718 236 -2400

Installation Instructions:

{ ) USER’S MANUAL
anzar-
OPTIO SN\ (=

OPTIMC91BT

Opti Drive 700 Watts Motorcycle/ATV/Snowmoblle Mount 4CH Amplifier w/Dual handle-bar

Step #1: Install *P* shaped clamp (Ltem #2)/"Z" shaped clamp (Ttem #3) threaded on to the
bottom of each speaker enclosure (Ltem #1). Use the provided bolts (ifem #14).

Step #2; Bolt each speaker with its mount to the handlebar of the vehicle. Hardware included
will allow for mounting on fo 1* diameter and smaller handlebars. Project each speaker
at desired listening level, for best performance.

Step #3: Secure speaker wires either through handlebars for a custom look, or use (Item #13)
wire ties to secure fo the handlebars.

Step #4: Bolt the rotary volume control (Ttem #11) to the handlebars using the vehicle provided
hardware. Then run 3.5 mm connection down to desired amplifier location. Use (Item #13)
wire ties to secure fo the handlebars. Have 3.5 mm male connection close to mount.

The Connector that comes pre-installed on the amplifier wire harness (Ltem #8) was designed to allow
for direct plug-in for most American Motorcycles (Lem #9). If mounting on a mefric or universal
vehicle, this harness will not be used, and replaced with the terminals/connectors provided in the
enclosed parts bag according to the installation instructions (Ltems #6, #7, & #8). Follow wire
instructions as shown in Diagram A Be sure fo match the proper polarity for all connections. The
polarity for the speaker terminals solid color wire (+), wire with stripe (-). Blue wire 12 Volt Positive
(+) terminal trigger wire. Black wire 12 Volt (-) Ground to chassis of vehicle.
Step #5: Bolt the Universal Handlebar MP3/Audio Mount (Ttem #5) using provided black industrial
velcro adhesive strips (Item #12). Remove bolt from existing switch housing on
motorcycle and secure to bracket.

Step #6: Bolt the USB Charger/ Power Source (Item #10) using vehicle provided hardware.
This wire should be connected 12 Volt power source.

Step #7: Run wires up o neck area of motorcycle and plug info harness. Use (Item #13) wire ties to
the frame.

Step #8:Bolt amplifier on Motorcycle with provided Bolt (item #15). Best if mounted directly fo
rame out of reach from direct heat or crash bar.

Step #9: Attach Velcro strips (Item #12) one side to our Universal Bracket (Item #5) the other
To your MP3 player/ audio source.

Step #10: Connect 3.5mm male connection into Audio device, and opposite side info Micro Amplifier

Mount Al Die cast

WWW.LANZAR.COM

W/MP3/ iPod Input and USB Charger




